.2

=V LA BI03FERERT T HE

- Flzr 103462 23 P ¥ 596 7 5 § il iF
NS i~#:$?n RPN . %hﬁ éigéﬁﬁ,
(ZFF 5~ g9 (3442 4) (EF,J SR | (BT )
Liyz %on oy Fopmit) - %ok HEP
g3 17,490 17,490 17, 330 17, 330
A2 2 09% fe g 11,170 10, 950 7, 940 7,180
£ R (7)1 ki N 28, 660 28, 440 24,8170 24,510
gz vhigd \ a 1,110
g o ¥ 1,110 (k% 41,050) 1,020 1,000
g3 33, 181 33, 505 29, 037 28,785
1005 & & 4= ey 19, 487 19,678 17, 054 16, 906
»F2 154 % B3 92, 668 53, 183 46, 091 45, 691
A . 2,220
gLy 2,220 (& 2 1 2,100) 2,040 2,000

Z AL AREST

' e a1 ‘Pﬂ_gym( @ e BER(FH & v L RER
e RN R ﬁf-ﬂ “r) ~ 1 Tk ) (EF 54 o)
#3e Ak 12, 000 12, 000 12, 000 12, 000
lv*’ﬁ*i PRI ??
EF]—J 2 &1 & ? e 6,000 5 il:«:i:r ?0;60]1_ v ,:‘3 N iﬁ’,{ﬁéuj— N
- = - ﬁ/v\%’j %\,J": BT W‘ﬁkﬁ k7 % 05000 poT Y ’ FEd AT~ B RET:
wm R ;F: 2 ,"i ?f’i"\l ,"’i EMBA > E7I ,% P 5 000
@3k 5,000 10, 000 ’
= ~FAA L
R 1-FTER R ok 453 ELE §C) Y
(ZFF A~ gars (247fi]‘s\,lsi (??<1?"Lr“/f (ﬁﬁiﬁé‘f{’;
Lz g Bri 230 S GRAC) ) ]
M2 2 99T | mie s A 13, 310 12, 850 11, 250 11, 100
ER(F)UT
rEa s | EAE 1,570 1,570 1,570 1,570
1005 = B4 a0 2 i 26, 620 25, 700 22,500 22, 200
»Bz 4
2 o g g% 3, 140 3, 140 3, 140 3, 140

4T

TR R R

PR B D SN ’/F‘EEJ_?’:F% > N7 P =3
(525 = (—??l?kl—rﬁ/_]; %M %F
BES RATEE S A T 4 (Fpm g 7h)
{é’ﬁl:?}?&:)
BF=8(F) |mspes A 13, 310 12, 850 11, 250 11, 100
IDETIPNE. ERP
gz | £4F 1,570 1,570 1,570 1,570
TEFERCE) |gzen Au 13, 310 12, 850 11, 250 11, 100
IDECBNE- FRPN
B2 aoT-00% | 7, 065
ERENE2 0 AAEL 2 (aumﬁﬁﬂisi@’?ﬁv?ﬁﬂé\l#*ﬁl]ﬁﬁw i)
4 4
1005 & AAs o gg 26, 620 25, 700 22, 500 22, 200
%?1&1
4;@4 E 3,140 3,140 3,140 3,140

PR LA R ERAE S R A RE S ﬁ;ﬁfﬁiﬁﬁﬁﬁ ALERY BT SIS

2,100 # RAe » Bz« Bt B ()2 > R Y RF A I blePReh (5B Y 0F 2 3dzg - NI A
%ﬂ:@?%i@~ﬁﬁ‘%TéﬁvuﬁﬁéﬁTﬂékﬁﬁi%tﬁ%ﬂo

S EMINERMERERF2Z NANLBFHEFT EIFET S R T B RIARL L RE BT RY -



